
©Copyright 5/02/2018 LF-Rev00

HP6412 - KHP6412
PARAMANI -  HAND PROTECTOR - PROTECTION DES MAINS
HANDSCHUTZ - PROTECCIÓN DE MANO - PROTETOR DE MÃO

TRIUMPH STREET TRIPLE 765(2017/2018)  

1/4

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

N° Descrizione Caratteristiche Codice Quantità

1
Paramani -  Hand Protector 

Protection Des Mains - Handschutz
Protección De Mano - Protetor De Mão

- - 2 (Dx;Sx)

2
Supporto - Support
Support - Halterung

Soporte - Apoio
- GL3764V 1 (Right)

3
Supporto - Support
Support - Halterung

Soporte - Apoio
- GL3765V 1 (Left)

4
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TCEI M6x40 640TCEI 1

5
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEIFN M6X16 616TBEIFN 2

6
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TCEI M6x30 630TCEI 1

7
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TSPX M6x30 630TSPX 2

8

Rondella spaccata - Split washer 
Scheibe - Rondelle fendue

Arandela seccionada - Arruela Dentada
Ø6 Z1063 2

9
Rondella In Nylon - Nylon Washer

Rondelle Original En Nylon – Nylonscheibe     
Arandela De Nylon - Arruela De Nylon

- Z1979 2

10
Rondella Inox - Stainless Steel Washer

 Rondelle Inox Rostfreie Unterlegscheibe Aus Stahl 
Arandela Inox  - Arruela Lisa De Aço Inox

- 200RON 2

11
Rondella In Gomma - Rubber Washer
Rondelle En Gomme – Gummischeibe    

Arandela De Goma - Arruela De Borracha
- 0RONG 2

12
Rondella Svasata - Flared Washer
Rondelle Evasee - Unterlegscheibe
Arandela Alargada - Arruela Cônica

- V230 2

13

Distanziale - Spacer
Entretoise - Distanzstueck

Distanciador - Espaçador

- V766 2

14
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador - Espaçador

Ø10x7 Foro 6mm C10L7F6T 1

15
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador - Espaçador

Ø10x3 Foro 6,5mm C10L3F6,5T 3

16
Dado - Bolt - Ecrou

 Mutter  - Tuerca - Porca
Dado Autobloccante

Flangiato Ribassato M6
6DADIABFN 2

17
Componenti Originali - Original Parts
Parties Originales - Original Bauteile 

Componentes Originales - Componentes Originais
- - -



©Copyright 5/02/2018 LF-Rev00

HP6412 - KHP6412
PARAMANI -  HAND PROTECTOR - PROTECTION DES MAINS
HANDSCHUTZ - PROTECCIÓN DE MANO - PROTETOR DE MÃO

TRIUMPH STREET TRIPLE 765(2017/2018)  

2/4

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

4 mm / 5 mm

10mm

10 11 12 13 14

15 16

1 2 3 4 5 6 7 8

9

RIGHT SIDE LEFT SIDE

2 3



©Copyright 5/02/2018 LF-Rev00

HP6412 - KHP6412
PARAMANI -  HAND PROTECTOR - PROTECTION DES MAINS
HANDSCHUTZ - PROTECCIÓN DE MANO - PROTETOR DE MÃO

TRIUMPH STREET TRIPLE 765(2017/2018)  

3/4

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

REMOVE

RIGHT SIDE

17

14

2

8 4

REMOVE

LEFT SIDE

17

15

3

86



©Copyright 5/02/2018 LF-Rev00

HP6412 - KHP6412
PARAMANI -  HAND PROTECTOR - PROTECTION DES MAINS
HANDSCHUTZ - PROTECCIÓN DE MANO - PROTETOR DE MÃO

TRIUMPH STREET TRIPLE 765(2017/2018)  

4/4

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

10
11

13
12

17

7

1

A

B

A B

1

16

15

9

5

2 3

 LeftRight


